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1. BEEBOL
(1) BEINE
= B A = & ( 110,000 ) ( 100,000 ) 10,000
& A iE = 8 110,000 90,000 20,000
E E F K E £ B 0 10,000 A 10,000
= B = = ( 8,408,000 ) (6,785,000 ) 1,623,000
& A iE = =} 1,930,000 2,380,000 A 450,000
m AN B B £ B 140,000 200,000 A 60,000
E E F K E £ B 60,000 100,000 A 40,000
E E F ® 8 B £ B8 0 40,000 A 40,000
= ES = =] 3,200,000 1,200,000 2,000,000
B &£ = a8 3,078,000 2,865,000 213,000
=3 ES IR b ( 46,600,792 ) ( 68363510 ) | A 21762718
M E R OB X £ W 0 3,289,070 A 3,289,070
B BN OE X OBE W 41,983,652 61,492,383 A 19,508,731
W R . H R % 4,617,140 2,173,857 2,443,283
z ) fth = E S 0 1,408,200 A 1,408,200
I & # Iz A ( 0) ( 350,000 ) A 350,000
Bh 54 & g A ( 500,000 ) (1,000,000 ) A 500,000
= HR & fF & ( 639,000 ) (  5,675000) | A 5036000
= By HF i & 639,000 5,675,000 A 5,036,000
# g b ( 1,252,157 ) (  1476872) A 224715
= :j F 2 895 4,972 A 4077
M g b 1,251,262 1,471,900 A 220,638
BEINEEE 57,509,949 83,750,382 A 26240433
2 BEER
= % &
A % & 21,446,392 16,151,674 5,294,718
ME KRR X B B £B 3,665,406 3,272,725 392,681
BE W E X B B X% 16,391,985 7,551,330 8,840,655
MR -8R E E B 1,389,001 1,393,996 A 4995
z O H# T X B 0 3,933,623 A 3933623
z D ith 2 =y 29,015,381 54,585,583 A 25570,202
ME R X X B F £ % 2,325,170 2,163,875 161,295
BE W E X BE E X£EB 21,905,174 46,476,398 A 24571224
MR - W EF E £ & 4,785,037 2,822,235 1,962,802
F O M = £ 0 3,123,075 A 3123075
=3 ES & H 50,461,773 70,737,257 A 20,275,484
15 ] & 14,352,860 11,073,732 3,279,128
A # & 3,605,376 3,399,802 205,574
z 0} fh B8 & 10,747,484 7,673,930 3,073,554
& b & H) 14,352,860 11,073,732 3,279,128
REER 64,814,633 81,810,989 A 16,996,356
e AR AT LR B RAE A 7,304,684 1,939,393 A 9,244,077
FHMmE R EET 0 0 0
LR A 7,304,684 1,939,393 A 9,244,077
2. BEIMERDE
(1) BEHUNEE
BE SRR 0 0 0
2 BENER
rENERE 0 0 0
LHRE S EREE 0 0 0
L HA— AR IE DR BF EELE R AR A 7,304,684 1,939,393 A 9244077
— R ERBEEES 7,850,498 5,911,105 1,939,393
— R ERBAEEARIERS 545,814 7,850,498 A 7,304,684
I $5%EIERKREFEIE R DER
= By F i & ( 50,000 ) 0 50,000
= B = i & 50,000 0 50,000
L HAYE E IE DR B EEIE R AR 50,000 0 50,000
EEEKRMENRERS 0 0 0
EEIERE ELHRES 50,000 0 50,000
I EREIEHERES 595,814 7,850,498 A 7254684
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Fl B LEE
I EEDER
1. RENEE
BEEs: 13,191,403
58 #h & 0
P S i} il 30,307
VAN R bi:| [+ o 2,978
Al E7N =4 A 140,400
RENEESE 13,365,088
2. BEIEEE
(1) ZDEEEE
B W = & 944,525
+ = fim &h 434916
O E M OB E % A 616,332
H & o 10,000
2 % 400,000
& HA S ljr} £ 13,711,600
i £ 5] =] & A 2742320
ZTOMETEEESET 12,142,389
B &EESE 12,142,389
BESE 25,507,477
I 8EOH
1. REBA%
y Gl HA & A & 22,571,000
P S E7N o 250
S h & H 2,175,367
5! Y o 165,046
REIBESE 24,911,663
BiEEE 24,911,663
I IERRBAEDER
1. IEEIERKELE
& F & 50,000
IEEEREAE ST 50,000
2. —fBIERREAE 545,814
IERBIE ST 595,814
BERVIEKRBMESE 25,507,477
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BEExEREH B-YEE FHENE |£ o
(GRENEE)
BnE FRE BELESELT 39,816
BEE HEITE 460,000
LTEHEE 11,291,587
A (XERITIREXE 3,595,327
AT IXBITEFZIE 1,211,079
DAZAWE SUL S it o
ITIHXIE 2,649,357
HHEREEREXE 953,846
DAZAWE SUL S -t o
EDRRAEEE 2,881,978
EHTESE 1,400,000
HHEREEREXE 300,000
HHEREEREXE 1,100,000
FRINE 30,307
SERFREITE 2,978
BithE F 140,400
RENEESE 13,365,088
(BIE&#E)
ZTDMETEEE
PEMAEE 944,525
2= E 434,916
B R ETEE A 616,332
FEMAEE A 434482
3= E A 181,850
HEE 10,000
& 400,000
REIRINE 13,711,600
ELHEIEES A 2,742,320
B &EESE 12,142,389
BESE 25,507,477
GiEU=YE))
HHEAS 22,571,000
XL 250
*iILEH 2,175,367
iUk 165,046
TSRS 155,638
ERRKE 8,297
Z D1t 1,111
REIBESE 24,911,663
BESE 24,911,663
IEDREAEE 595,814




